§g ¢ . /Von linear SE)S%MS

A sysktm of =quatins W which ab et gre @guatin 1§ not

livear 15 clled  nenlinar  Sysdom

, we Sele X \o) SML‘K«H—}\H»‘.W) \

Eme@lE 156 Soln

X-8-Y=0 —)
zX+ ] =5 — &

Th (), ve  gselay q e geb Y- X®2 — (3)

We o Swbithede b v () o 24

AX+UA =&
2%+ X272 = 5

X +2¥ -8 =0

rnsmancncy

Xz 2 oY =Y by He forvurg (Sechioma)

Yz o 9= 13

Solkin Sor =f (2,74), (413)7.



EXtreise & Solw

Y=x
X“l’f& =0

Eramle 25 Sein

Y= 2V x+i

X= Y+4

% lw\Aﬁfﬁq v WS ubsHvule

e Ll et et

= AV w3
g?z”f: Y {Y+3)

C . _ ~
qiiﬂw%wim Q@% @ ?
A )¢ -

‘é\{ﬁ z

—~ (1)

— (2]

(2) w

Y = -6

/ 1/?(”@{ m% a. Salve

PR

LY = 3kt
@ y-Iwr

Xagt el

(=5

%

rejecied)



